
SAP ABAP table VDVORTR {Loan carry-forward totals}

VDVORTR

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANL [CHAR (13)]

VVDDPER [DATS (8)]

SBEWART [CHAR (4)]

SKOART [NUMC (4)]

SBWHR [CUKY (5)]

SNWHR [CUKY (5)]

RREFKONT [CHAR (8)]

GSBER [CHAR (4)]

HKONT [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 VDVORTR-HKONT = SKA1-SAKNR 
0..N

0..N

T000

MANDT [CLNT (3)]
 VDVORTR-MANDT = T000-MANDT 

{0,1}

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] VDVORTR-BUKRS = T001-BUKRS {0,1}

1

T037S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

 VDVORTR-RREFKONT = T037S-RREFKONT 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VDVORTR-SBWHR = TCURC-WAERS 

0..N

{0,1}

 VDVORTR-SNWHR = TCURC-WAERS 

1..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VDVORTR-GSBER = TGSB-GSBER 

0..N

1


